
3 2  •  2 0 1 9  I N T E R I O R  D O O R  S Y S T E M S  A N D  H A R D W A R E  C A T A L O G  •  V E R S I O N  4 . 0

SPECTRUM MATTE BLACK BARN DOOR HARDWARE KITS

Door slab and handle not included. Matte Black Bent Strap Hardware Kit Shown.

Renin.com

1 (888) 752-0427

SP
EC

T
R

U
M

 M
A

T
T

E 
B

L
A

C
K

 B
A

R
N

 D
O

O
R

 H
A

R
D

W
A

R
E 

K
IT

S
2

5
0

 L
B

B
A

R
N



3 3  •  2 0 1 9  I N T E R I O R  D O O R  S Y S T E M S  A N D  H A R D W A R E  C A T A L O G  •  V E R S I O N  4 . 0

BENT STRAP

BENT STRAP HARDWARE KIT
TRACK SIZE PRODUCT NUMBER

78 3/4˝ (2000 mm) BD102K-07800-MB

96˝ (2438 mm) BD102K-09600-MB

TOP OF DOOR STRAP

TOP OF DOOR HARDWARE KIT
TRACK SIZE PRODUCT NUMBER

78 3/4˝ (2000 mm) BD101K-07800-MB

96˝ (2438 mm) BD101K-09600-MB

STRAIGHT STRAP

STRAIGHT STRAP HARDWARE KIT
TRACK SIZE PRODUCT NUMBER

78 3/4˝ (2000 mm) BD100K-07800-MB

96˝ (2438 mm) BD100K-09600-MB

SPECTRUM MATTE BLACK BARN DOOR HARDWARE KITS

MATTE BLACK BENT STRAP HARDWARE KIT

INCLUDED IN KIT

Bent Strap 
Installation 
Instructions

PDF

Android users please refer
to your owners manual 

Straight Strap 
Installation 
Instructions

PDF

Android users please refer
to your owners manual 

T.O.D. Strap 
Installation 
Instructions

PDF

Android users please refer
to your owners manual 

Renin.com

1 (888) 752-0427

SPEC
T

R
U

M
 M

A
T

T
E B

L
A

C
K

 B
A

R
N

 D
O

O
R

 H
A

R
D

W
A

R
E K

IT
S

2
5

0
 L

B
B

A
R

N



3 4  •  2 0 1 9  I N T E R I O R  D O O R  S Y S T E M S  A N D  H A R D W A R E  C A T A L O G  •  V E R S I O N  4 . 0

PARTS INCLUDED IN KITS PIECES BOX PART NUMBER PARTS IMAGE

78 3/4̋  TRACK 1 1 BD5000-07800-MB

 Choose your track 

96̋  TRACK 1 1 BD5000-09600-MB

Wall Spacer

78 3/4" 5 1

BD350-MB

96" 6 1

Track Mount 
Screws

(With anchor
for Drywall)

78 3/4" 5 1

BD136-MB

96" 6 1

Track Mount 
Bolts (With 

carriage  
anchor for  
Concrete)

78 3/4" 5 1

BD134-MB

96" 6 1

Single Strap 
Mounting 
Bolt (For 

Bent/Straight 
Strap kits)

1 3/4" 2 1 BD133-MB

1 3/8" 2 1 BD130-MB

Left and Right End Stops

1 1 BD850-MB-L

1 1 BD850-MB-R

Anti-Jump Discs 2 1 BD790

Floor Mount Guide 1 1 BD750

Optional Wall Mount and 
Floor Surface Guides

1
each

1 HW99161

2
5

0
 L

B

SPECTRUM MATTE BLACK BARN DOOR HARDWARE PARTS

Style may differ

Color may differ

Renin.com

1 (888) 752-0427

SP
EC

T
R

U
M

 M
A

T
T

E 
B

L
A

C
K

 B
A

R
N

 D
O

O
R

 H
A

R
D

W
A

R
E 

PA
R

T
S

2
5

0
 L

B
B

A
R

N



3 5  •  2 0 1 9  I N T E R I O R  D O O R  S Y S T E M S  A N D  H A R D W A R E  C A T A L O G  •  V E R S I O N  4 . 0

2
5

0
 L

B

2
5

0
 L

B

PARTS

PART NAME KIT INCLUDES UNITS PART # PARTS IMAGE

Single Bent Strap 
(supplied with 1 3/8˝ bolts  

- 1 3/4˝ bolts sold separately)
Two barn door straps are  

required for each barn  
door hung

1 BD552-MB

Single Straight Strap 
(supplied with 1 3/8˝ bolts  

- 1 3/4˝ bolts sold separately)
1 BD550-MB

Single Top Mount 
(Supplied with Top Mounting 

screws)

Two barn door Top Mounts  
are required for each barn  

door hung
1 BD551-MB

ACCESSORIES PARTS

PART NAME ACCESSORIES UNITS PART # PARTS IMAGE

Single Door Handle  
(6 1/2˝ x 1˝ x 1  1/2˝)

With Mounting Screws 1 BD450-MB

Single Rectangular Flush 
Door Pull (6 7/16˝ x 2 1/8˝)

With Mounting Screws 1 BD460-MB

Single Privacy Latch With Mounting Hardware 1 BD250-MB

ADD-A-DOOR KITS

PART NAME KIT INCLUDES UNITS PART # PARTS IMAGE

Bent Strap kit  
with 1 3/8˝ mounting bolts  

(1 3/4˝ bolts sold separately)

• Straps
• 1 3/8˝ mounting bolts 
• left and right stoppers

• Anti-jump discs 
• Floor guide

• Optional floor guides.

1 BD400-102-MB

Straight Strap kit  
with 1 3/8˝ mounting bolts  

(1 3/4˝ bolts sold separately)

• Straps
• 1 3/8˝ mounting bolts 
• left and right stoppers

• Anti-jump discs 
• Floor guide

• Optional floor guides.

1 BD400-100-MB

Top Mount kit with top 
mount screws

• Top Mounts
• Mounting Screws 

• left and right stoppers
• Anti-jump discs 

• Floor guide
• Optional floor guides.

1 BD400-101-MB

Renin.com

1 (888) 752-0427

SPEC
T

R
U

M
 M

A
T

T
E B

L
A

C
K

 B
A

R
N

 D
O

O
R

 H
A

R
D

W
A

R
E PA

R
T

S
2

5
0

 L
B

B
A

R
N




